2000 AF3|ZREFR] 2400 FERAGALE AL 2410 FEALY 2412 =AISAAW] 110 Q1w 101 1719
e =5
o AF o At = 7] =
A% AA 5
i:‘_lﬁ%% - 3,377,074
173% a2 197,074
}5% . 12,590
g%ﬂ] 12,590
12,590 |10 A AJAF Q1<)
OLAAFA Q-] (=12,590)

= 36,050 * 19 * 2659 = 9,554

—AAFETd 36,050 * 194 * 129 = 433

—fraFdrd 36,050 * 19 * 525 = 1,875

— A FTG 36,0509 * 10Y = 361

— 297 A ] 12,233,0009) * 3% = 367
175(% A7 184,484
???(1%_ . 106,384

106,384 |01 L¥H-<dH]
OdnkyEH] (=71,164)
— 7| B} 8,000,000 = 8,000
— 7] E}4=21] 3,000,000 = 3,000
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e o = 7] e
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950.0009) * 5% * 2%

1,000,0009) * 12]

=2 Al 300090 = 1,000%)
213} (=2,040)
20091 * 2007 * 129
800 * 100m) = 12¢¥
2.5008) * 20% * 129
A o2 2T+
188 .0009] * 3% * 63
A 2EF A F

5004 * 20,0009
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100%- * 7,000¢1

2,500

1,000

3,000

480

960

600

3,384

10,000

480

2,160

700




2000 ARB|ZNEH] 2400 FERAGARS N 2410 FEARY 2412 =AIEEAAEH] 120 A AH] 201 dRERGH]
e =5
o 2+ o Ak = 7] kS
Alg Al A g =
—EASAANEE O] wFd A= 20,000,000¢) = 20,000
- 293 E FER(EHT)FEL A%
2,000¢) * 1,0000] = 2,000
— S 9 G EF A A 2l 1,00090 =+ 1,000m = 1,000
—SeFaEfAAHEH <A 30,000¢) * 1009 = 3,000
— S nEFAAGY @& TR 5 A
50,0009 * 17vf = 23] = 1,700
—AAZTEHE A8 dF A (HE) 150,000 = 123] = 1,800
- EHWRFA 2Y7eF Y (=5,400)
- 100 ¢ 3,600¢) * 1,000% = 3,600
+ 50 £ 1,8009) * 1,000% = 1,800
O&&8w (=3,000)
— 2B EH AN EAR AR e 3,000,0009) = 3,000
O+d47 (=15,640)
— 29|} Aoty 70,0009 = 47 = 43] = 1,120
- A=A E AYadeEd (=6,800)
L 7] B 70,0009 * 89 * 103] = 5,600




2000 AF3| 0] 2400 FEIRAAAS| N 2410 FEALY 2412 E=AFA AN 120 737A7d 201 UREGH]|
il - o AF of AL = 7] e
A8} Al Al & =
B 30,0009 * 8% * 53] = 1,200
— EAYARIARE A D+ (=6,720)
7] 5 70,0009 * 129 * 43] = 3,360
%3} 30,0009 * 129 = 43] = 1,440
A H] 1A 40,0009 = 129 * 43] = 1,920
- SN AEFTEA AARIY 3 (=1,000)
7] 70,0009 « 109 = 13] = 700
%3} 30,0009 = 109 = 13] = 300
OY== (=4,500)
- EHFAE FANFY 7L AF dAs
300,0009) * 103] = 3,000
—EWHFIE PgNFY AAEHT] G A
300,000 * 5t = 1,500
OAIA 78] fA 1] (=3,500)
— A5 A O] B 80,0009 * 25704 = 2,000
- EWHFIE GEHE olFA A 500,000 * 3t = 1,500
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2000 ARS|ZRER] 2400 FEEAAASIZNE 2410 FEALY] 2412 =ASPEAW] 120 AEAAEM 204 AT AN
e =5
o AF o} At = 7] -
Alg A4 g =
LI O #F ¢ - 37m| 100,0009 * 17 *129 = 1,200
AR 41,300
41,300 |11 7| EfRAFF
OAFUEA A= (=5,000)
— o)A 2,000,0009) = 13 = 2,000
-9 F 1,000,000¢) * 29 = 2,000
— %7 500,0009) * 29 = 1,000
OEAZ#AYARIZE TR Ada (=18,000)
- & 5,000,000¢) = 19 = 5,000
- 3,000,0009) = 13 = 3,000
-& 4 2,000,0009) = 21§ = 4,000
-5 A 1,000,000¢) * 39 = 3,000
- & 9 300,000¢) * 107 = 3,000
OmA A AT AR ofeolt]o] AE (=7,800)
- = % 1,000,000¢) * 19 = 23] = 2,000
- A 700,0009) * 29 * 23] = 2,800
-5 % 500,000 * 39 * 23] = 3,000




2000 ARS]ZER] 2400 FEIEA QARSI 2410 FEARY 2412 E=ASHEAH] 120 AAAAEH] . 301 AREE AL
ot =
o 4b of A = 7] %
A A A& =
O Z=AIAFATARRL ofolt]o] Ak BHAFH 1507 * 10,0009 = 1,500
OEWHFILE FAXGA AAd e 4=
3,000 * 3,000v)= 9,000
2&% a2 3,180,000
220
SRS 3,180,000
ggg . 46,900
O=WFasE A7 ¢4 (=19,000)
— A7 100,000 * 107} = 1,000
—E¥HE X g 9 120,000 * 1504 = 18,000
Od=rut Jeo] dojdf 4 250,000 = 10074 = 25,000
OEWHFIE AAE A& H 7k 79 40,0009 * 20% = 800
OAAH TR A 7-94H] 300,000 * 770 = 2,100
207
A7) 2000
20,000 |01 &<H]
OoletteduE & vwd A% 20,000,000¢) = 20,000
307
ol 7ho] 4 20,000
20,000 (02 W1Z+7A g K %




2000 ARSIZHMER] 2400 FEIRASFARSINE 2410 FEARY 2412 =ASAAN 220 AAAY 307 RIZkold
e =5
o AF o At = 7] *
Alg A4 g =
iﬁ%om OO0 g AN NH AL 20,000,000¢] 20,000
PEEETED 200,000
2,350,000 |01 A]4d4H]
Oz AHAY 700,000,000 700,000
OF=24d 2414 800,000,000 800,000
OF L1434 m AT A ALY 50,000,000 50,000
OAZ " ZAAY 20,000,000¢) * 52 100,000
OXY#E A =2FE AAAY 700,000,000¢) 700,000
10,000 |03 A1 F-tiH]
OA AR A A A H-ojH] 7,000,000 7,000
OAFu #A R ALY A F-oin] 3,000,000 3,000
7k 0] 4 730,000
730,000 |01 91ZkAHE B =
Oged 54384 Abdel W& ®Bx (=730,000)
- AFYF 2 BEF 2,500,0009 = 20%1 4 50,000
—AEE oW AY] 2D 15,000,000 = 207H 2 300,000
— 3% AH BERF 3,000,000 = 30714 90,000
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7} =
of AF of 2k = 7] =
Al gk A A 3¢ 5
—PEFNF A HEE 10,000,000 = 47} 2% = 40,000
—AESS 2 HERF 50,000,000 * 5% = 250,000
405
A2 S 0. 109
3,100 |01 AR &35 F 51
OFHA~7] ¢ 600,000 * 1] = 600
OZAHARRIY 218 t A 7bm| eh- (800 3}4r)
2,000,0009] = 1tf = 2,000
OZFgITHEY] LA A L) 500,000¢) = 1tf = 500
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